7 The lengths of the sides of two squares are integers when measured in ¢
The difference between the areas of the two squares is 28 cm?

Find the difference between the lengths of the sides of the two squares.

e
Answer cm [4]
4. On the grid, label the region that satisfies all three of these inequalities .
Wé} oD {oaen i
Xx<3 y > -3 Y= 2% v
' Dhon TesT Fom

“““‘g&:ﬁ;&j\ gizimﬁﬁ
f’ E
(2,2)

~ <3
2.<3
b bt

o 7 | @) No



8. (a) Use the fact 5 miles = 8 kilometres to draw a conversion graph on the grid.
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Use your graph to convert

{b) 8 miles to kilometres
e

(c) 6 Kilometres to miles
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